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419 | 421 | 431 | 433 | 439 | 443 | 449 | 457 | 461 | 463 | 467 | 479 | 487 | 491 | 499 | 503 | 509 | 521 | 523 | A1
BAT | 557 | 563 | 569 | 571 | 577 | 587 | 593 | 599 | 601 | 607 | 613 | 617 | 619 | 631 | 641 | 643 | 647 | 653 | 659
661 | 673 | 677 | 683 | 691 | FO1 | ¥09 | V19 | 727 | 733 | 739 | 743 | 751 | 757 | 761 | V63 | V73 | 787 | 797 | 809
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1229(1231 (1237|1249 1259 (1277|1273 1283| 1289|1291 (1297|1301 | 1303 (1307 [1319|1321|1327| 1361|1367 | 1373
1381(1399 1409 1423 | 1427 (1429 1433 | 1439|1447 | 1451 1453 1459|1471 1481 1483 | 1487 | 1459(1493 14931511
1523(1531(1543| 1649|1563 (1559|1567 | 1571| 1579|1583 (1597|1601 | 1607 (1609 (1613|1613 | 1621|1627 | 1637 | 1657
1663|1667 | 1669|1693 | 1697 (1699|1709 | 1721|1723 1733|1741\ 17AT (1753 (1759 (1777|1783 | 1787 (178918011811
1823(1831(1847| 1861 | 1867 (1871|1873 | 1877|1873(1889(1301 1907|1913 (1931 (1933|1949 | 1351(1973{ 1979|1987
1993(1997 1999 2003|2011 (2017|2027 | 2029| 2039|2053 | 2063 | 2069 | 2081 (2083 |2087 | 2089 | 2099| 2111|2113 | 2129
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1. Use the least common multiple to help determine each answer.
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Exercises page 140 Homework
by Solutions
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Ladder Method

Find the GCF a) 48 & 56 b) 336 & 448
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Day 2
Exercises page 140
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